-'@2 =E GX 550 & LC 250 Upper Shelf Install

Iﬂ
AO00 000000000000
) ) 5 ) | W | S O )

o e e o o v o ) o
g o o o o o O A o W
~O 0000000 0000000000
OO00000000O000000000
o o o o o ) o o o o | o o o [ o
A e o o
o) o | i | o [ A o )
g o o o i

=== =

Included Part(s) (Molle Panels + Upper Shelf): 1x Upper Shelf | 1x Shelf Front Panel |
2x Upper Self Bracket | 2x Molle Panel | 2x Molle Panel Upper Rear Bracket | 2x Molle
Panel Upper Front Bracket | 2x Molle Panel Lower Rear Bracket | 2x Molle Panel
Lower Front Bracket | 2x Stainless Logo Plate

Included Hardware: 9x 1/4"-20 x 1/2" Button Head Bolt | 11x 1/4" Washer | 11x 1/4"-20
Serr. Flange Nuts | 2x 1/4"-20 x 3/4" Button Head Bolt

Process Ref. No: 1775 Date: 26/07/2024 Cycle Time: N/A
Revision: 1.004 Revision date: 25/04/2025 Page 10f5 Author: Colin G



https://gembadocsapp.page.link/WnKnZHX8SccBQ7qYA

Feedback?

bcx =ys GX 550 & LC 250 Upper Shelf Install

Begin by removing the grab handles. Pop off the plastic covers and remove the (2) Install the mounting brackets with the handle mounting holes and the factory

factory hex bolts using a 10mm socket. Repeat this on each side of the vehicle. hardware. This can be installed with or without the handles. If installing with the rear
window molle panels, stack the shelf mounting bracket over the molle panel
mounting bracket. Longer M6 bolts and small washers are provided if the stack up for
your set up is too much for the factory hardware.

Process Ref. No: 1775 Date: 26/07/2024 Cycle Time: N/A

Revision: 1.004 Revision date: 25/04/2025 Page 2 of 5 Author: Colin G



https://gembadocsapp.page.link/WnKnZHX8SccBQ7qYA

Feedback?

GX 550 & LC 250 Upper Shelf Install

e

I+ %
3 il
[N

o
o
-

Yanaih

Install the front panel onto the shelf using the short 1/4" hardware (if installing

Place the shelf onto the mounting brackets and loosely secure it using the short 1/4"
without a pet divider). If you are only installing the upper shelf on its own, center the
shelf and tighten all hardware to complete the install.

hardware.

Cycle Time: N/A
Author: Colin G

Date: 26/07/2024

Process Ref. No: 1775
Page 3 of 5

Revision: 1.004 Revision date: 25/04/2025



https://gembadocsapp.page.link/WnKnZHX8SccBQ7qYA

Feedback?

bcx =ys GX 550 & LC 250 Upper Shelf Install

If installing with rear window molle panels, secure the molles to the self using the 1/4" If installing with a pet divider, secure the center of the panel to the shelf with 1/4"
hardware as shown. The provided longer 1/4" bolt is required in the hole circledinthe  hardware.

image. The bracket will mount to the inside of the panel on one end and the other end

will mount to either the shelf and front panel or shelf ant pet divider depending on

what you are installing.

-

Cycle Time: N/A
Author: Colin G

Process Ref. No: 1775 Date: 26/07/2024
Revision: 1.004 Revision date: 25/04/2025 Page 4 of 5



https://gembadocsapp.page.link/WnKnZHX8SccBQ7qYA

Feedback?

I

= =E GX 550 & LC 250 Upper Shelf Install

V
n Finally, adjust the position of everything to get it in the desired position and then
tighten up all hardware and the install is complete.

10 Thank you for supporting
American-made. We hope you
enjoy your new product!

If you have any questions or concerns
please reach out to us.

info@jcroffroad.com
info@victory4x4.com
info@squatch-proof.com
info@fatamericanmfg.com

269-353-1184

Oc: SYT £ sum
W & FATh.

£/ ! PROOF

VICTORY Hane, ol
4%4

AMERICAN MF(

Process Ref. No: 1775 Date: 26/07/2024 Cycle Time: N/A
Revision: 1.004 Revision date: 25/04/2025 Page 5 of 5 Author: Colin G



https://gembadocsapp.page.link/WnKnZHX8SccBQ7qYA

